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(0,12),(0,18) 0 8000000000020 00000000 XO0OOOO8 mm
pitch0000000000

pCOODOO0OODOODOODOO Ti-KaeO A-KeDOODOOOOODOO

goooo Ti K-«
200000 8 [mm]
000000 (yxz) 1x4[mm]
goboo g

0 2.10: Quadrant 000000000000 (PC)

WWRATEOOOOOOOOOOOO 1~19000000000000000 LSPDOO HSPDOOODOOO
gooooooboo

D00 DO 4F000000D00000O0O0O0OODOOODODOOOOOOOOO (0,0000000000 Vi-
gnetting 00000000 0OO00OODO
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23. XOOODO SXTEMOOOOOOOOOO

e CCDOODODOOOO (0000OHPD)

(1) 4000000000000 00O00O0XOOOOOOODOOOO02x2mmO000

(2) Sample stage Y OO (OO S,)0 Detector stage ZO 0O (00O D,) D000O0O0XO
0000 Quadrant D0 00000000 O0OOOOOOOOOXO CCDOOOO
oo000000sSy,by,04030000000000000000000000G0O
00000000 Quadrant 0000000 XOOODOOODOODOOOOOoooOoO
cCbobopooboooooo

(3) $,0D,0000000000000000
(4) (2)0(3)000000000000000000000000000

O0b0XoOooooooooobooo niobogobooboo icoobboobbooboooo
00000 Dside(XOODOODOODODDOODODODOO)O Cside(XOOOODOODODOODODO)OO
gboobooboobob

00000 Ti K-«
z00000 8 [mm]
000000 (yx2) 2x2[mm]
ccbonoo Super High
ccb oo -65[deg]
gogd gad

0 2.11: Quadrant 000000000000 (CCD)
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23. XOOODO SXTEMOOOOOOOOOO

.
WIS vl

Dy4.0=[mm/s]

Sy=5.333[mm/s]

4 H = Z
fiems 2.0mmx KElE2.0mm (Y_T/’X

(E—LFATE 15705)

0 2.9 Quadrant DO OO0 0O0O0O

Quadrant & #5285 %
) K- Tl [ R )
FCEAA

\ T mEAABH
p A7y 7= i
L \

INo5DT—Y %R LEDLYES
=SS 7 5 7%
DEFRLIZR S,

0 210 00000000 -0000000000000000000000O0O0O0O02mm OOO0O00OO
Quadrant 0O O OOOCOOO
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23. XOOODO SXTEMOOOOOOOOOO

2.3.2 0O0OOO

ooooopcCcOOOOOL ,, 6 0000000000D0OO0COOOOOOOOO 2110
Oo00oO0o0o00o000o000o0000o00D0 (8,6 ,)=(-31.920,7697) 000000
000 04mm pitch 0000 OOn-axis00 Ti-KaeOOOOOOO 115.949+1.098 [em?| 0 00
00000000000000 AFKeOODOOOO 147.425+0.854 [em?| 00000

Ti-K, at 4.2m

EA [¢m?]
EA [em?]

10

0y [arcmin]
0 2.11: Ti-KeD 6,(0)06,(0)000000000
Quadrant Scan {P.C.} Quadrant Scan (P.C.}
/hotae/xvt/ah/E0111108/4/pe/Hmumplleh Ay0/pe /hotae/rvt/ah /20111111 /8l /pc/ sa_dmmplbeh/pe
P L I S A B
— 2000 - . B — 4000 - -
a a
=] =l
=] 2
9 )
i L
) F b B e
o N . ey
‘" 1000 - B ‘w2000 «r® L
| - . = .
g [ 1 £
= =
0 ol 1 1 1 I i 0 =t : 1 1 1 I =
1] 10 20 30 40 1] 10 20 30 40
Line Number Line Number
Total = 71722 [eounts] Generator : 10 kV. 10 m4. Ti Total = 132788 [counts] Generator : 6 kY, 10 mA. Al
UMCA RO = 100 — 700 [ch] Offset Angle : §,= 0" UMCA ROI = 120 — 420 [ch] Offset Angle : §y="'
Q-5lit z—width = 4.0 [mm] Bo= 0 Q-5lit z—width = 4.0 [mm] By= '
Dy/Sy stage velocity = 5.33333333333333333333333333 [mm/a] Dy/Sy stage velocity = 5.3333333 [mm/a]
Direct beam intensity = 131.98 + 1.14874 [e/s] Direct beam intensity = 182.15 + 0.98018 [c/s]
Effective Area = 115.949 + 1.098 [cm?] Effective Area = 147.425 + 0.854 [cm?]

0 2.12: Ti-Ka(0)DAKe(D)DOOOOOOODO
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23. XOOODO SXTEMOOOOOOOOOO

2.3.3 HPD

O000D00DO000000D00DO0DbDO0 pitch00O0O0ODODO HPD, EEF, PSFOO
0000000000 HPDO 1.27 [armin] 00 0O

googg Ti K-«
z0000O0 2 [mm]
000000 (yx2) 2x2mm]
ccbonoo Super High
ccb oo -65[deg]
goaad g

U 212:. 0000

0 |
@ 0 M ¥ 9~ o~ — HED= 127 [sremin]

< o N C 1 1 1 1 1
-0 75 -5 25 0 25 5 75 10 0} L o 0 2 4 s 3 10
ID=111.N=26 Radins [arcmin]

Radius (arcmin)

0 2.13: O (0)OEEF(00)0PSF(O)
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23. XOOODO SXTEMOOOOOOOOOO

234 00O0OOOOHPD
godd

ooood214000obooooooooooooooo0ooobboooobooooge, 00O
O00o0b0o04000000D0000000 1mmOO0001lmm pitchODOO0O0ODOOO
gobbooodgbbboodb

» X

— N

A EEgramse
HEARICACR Yy T 7THNT

AEMKROEI S —
Y

/'

4BRY v b+

0214:00000001mm0O0 XO0O 1mm pitchO0OD0OO0O

gogd

000000 stepscan0 00000 3.280 000 0Quadrant 0000 OR = 100 mm, 200 mm
UoobbobDO0Ostepscan 0O O00O0O0O0OOOODOOOO 216000 stepUd O HPD OO
gooooooo217gdgon

O2170000000Quadrant OO0 00000000 DOOO0 HPDOOOODOODO 2~
4aremin 0 0000000000000 00D000D000O0 ~lareminODOOO0OO0OOOO
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23. XOOODO SXTEMOOOOOOOOOO

gogooo Ti K-«
z00000O 1 [mm]
000000 (yxz2) | 1x1mm]
CCD OO0 High
ccb oo -65[deg]
sstonon g

0 213: 0000

R=100 spot sean 1mm x 1mm R=200 spot sean 1lmm x 1mm

astro—h_1linescan_ccd_ri100_8block flt.txt eastro—h_1linescan_ced_r200_8block.flt.com
T T T T T T T T T T

200
200

Z [mm]
[+]

Z [mm]
0

—-200
—-200

0 215: 000000 stepscand 0000 100 mm|00000000 200 mm|0000
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2.3.

XOOooSXTeEMUODODOODOoooood

azimuthal step scan :

Y [arcmin] HPD [arcmin]

Z [arcmin]

10

7.5

25

Z (arcmin)
S

-2.5

-10 -7.5 -5 =25 0 25 5 75 10

Y (arcmin)

10

25 | ; a

Z (arcmin)
S
T

-2.5

-10 -7.5 -5 =25 0 25 5

Y (arcmin)

7.5

0 2.16: O stepd image 000000000 100 mm]O0 00 200[mm]|0

R=100mm
- T T [ T [ L 1T —_
Fo I I I I I [ E
TS A A U AL At B
| + i+ + Tt s | | A
°r I I I I I [ a
Fool | | | | | A E
N Il Il Il Il 1 Il J 1]
| I | ' | I | L I
L I I I I I oA .
Lo I I I I I [ 2
+
of I E A I e £
roa I I I I I o -
P I I I I I [ >
11 | | | Il | — 1]
I 1 I T I L I
L I I I I I oA —
Lo I I I I I [ E
of A AH by e
[ I I I I I o <
XE I I I I I [ N
11 I 1 1 1 FI— 11
—40 -20 0 20 40

Azimuth [deg]

021700 HPDOOOOOODO

27

Immx1lmm, 6.42arcmin pitch, Al at Fl. 4.2m(5.6m) azimuthal step scan :

10

immx1mm, 6.42arcmin pitch, Al at Fl. 4.2m(5.6m)

R=200mm
<r-' T 7 T 7 T ] T | I ]
I I I I I I I
@p L ! -+ + Dot
Eo e T e T T T T
or | I I I I [
Foo I I I I I oA
N L1 Il Il Il 1 Il Il Il 1]
| = 1 | I | T [N
S | I I I I I [
L I+ | | | | | |
+ +
L1 ER I+ + 4l | + o
o | +t++H SN i
[ | | | | | | | 1
C\‘lk | | | | | | | =
11 | | | Il | | | 1]
] | ! | 1 | ! | I
@ -ty I I I I I I
I I I I I I [
L i Y O P s
| | | | R T
[ I I I I I [
C\‘!k | | | | | | [
11 1 1 1 1 1 1 1 11
—40 —-20 0 20 40

Azimuth [deg]

YOOOOoooooozooo



30 tUbotuuood

Oooooooo SXT-EMUOOoooooooooobooboobooooooooooo
god

3.1 OO0

1. OnaxisO OO OOOOO
Ti-KaO0ODOODOODOOOO 116 [em?|00000Quadrant 000000000 OOO
531 [em?|00001/400 13275 [em?0 0000000000000 O0O0OOOOOO
o ooooooooo

2. Quadrant 0O OO0
0000000000000 0000000D00OD000DOO000DD pitchODOOODO
000 HPDOEEFOPSFOOOOOHPDO 1.27 [arcmin) OO0 OO

3. 0b0ooogoon
Quadrant 0 0000000000000 000DO0 Quadrant DO0O0O0OR = 100 [mm],
200 mm| 00000 HPDOO Quadrant 000000000000 2 ~ 4 [arcmin| OO
000000000 ~1faremin)] 0000000000

3.2 0OOOOO

OooooooEeEMOOOODDOOOOOOODOOOO0OOO0ODOOO0O0OO0O0O SXTEMOO
O00000008% 000000000000 8% I D000 00DDOOODOFM(Flight
Model) DD 00000000000 0ODO0OO0OO0OO0O0OOOO0O0O0OOO0OOODOODOOOO
gobobooogboo
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